<
=—" )
T —————
——n
—_—
ol
G 4G
B T
Axo> FLmo D9 o 7ol Csllos g Ol oILGIS 51
AY/NNA (o)) (Frt> plol

Ot ol (55 sees
Sl 5 Slide eyl lss
2955 ol e Olasle

1yvay J= S5 &n’gu oyl i U5 sl 490 (59959 g,n}T

IVAY 45 o (poud guikige

A8 Yo 1 098wl Low

18+ 1l Slans

QY",« o)w 9 Slass ‘UJW' 3"4 ‘_,I,J.

aland U | ajleud 51 | 1o Slons el dlge @,
¥ \ Ve A g goges 0Ly [ )
o ) '8 Yolao)lsJut| ¥
£ 2 ¥ Sealisagas [ ¥
A- s 1 SVl Sulke | F
20 AN 10 banld Jos [ o
Y0 a8 Y. Yo aoly alles g oy Just [ 7
Y- ¢ 10 stbosd o35l m b g Sz | Y
Vo ATy Y- (goae —gom ) Slualy, | A

[ WAY Jlo olo cpets ]

Wb o jlxe Ol alile jl solaiw!
RO I SO SO P [ CIR P )|

Dydgo ks Oy gl eiliie b g 0l g0 lxe el () J9me b i (Fgia g Ak el calad (g 039631 80155 1 3 o SV Ige 350 5 Gl




11-
12-
13-

14-
15-

Y axio S10A (mazi g pges b

| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

The two groups of students should be taught differently in that their learning needs are
quite

1) bizarre 2) distinct 3) stable 4) reckless

This mildly picaresque novel a boy's flight from prep school to an eventful
weekend in a big city.

1) recounts 2) accumulates 3) asserts 4) restricts

The two companies worked in and lowered their prices to make their rival
company collapse.

1) ambivalence 2) validity 3) chaos 4) collusion

The U.S. was accused of international efforts to combat global warming.
1) regretting 2) convicting 3) undermining 4) accelerating
Richard is so that his diet consists almost exclusively of catfish and chicken
liver—the two most inexpensive foods in the store.

1) frugal 2) timid 3) selective 4) astute

Even after traveling 62 miles, the runner kept on moving.

1) congenial 2) indefatigable 3) flimsy 4) indifferent

As we traveled to college for the first time, the family car was laden with books, clothing,
, and other necessities.

1) warehouses 2) amenities 3) fragments 4) appliances

When Eileen me to a fight, I could see the hatred in her eyes.

1) strengthened 2) derived 3) challenged 4) justified

People like to be around George because he is so and good-natured, so it comes
as no surprise that he has so many good friends.

1) affable 2) sarcastic 3) superficial 4) half-hearted

The new tax policy was criticized in that it was argued that the rich were actually the
main of the tax cuts.
1) hedonists 2) savants 3) benefactors 4) beneficiaries

| Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

I each space. Then mark your answer sheet.

Quantum teleportation exploits some of the most basic (and peculiar) features of quantum
mechanics, (11) in the first quarter of the 20th century to explain (12) at the
level of individual atoms. (13) the beginning, theorists realized that quantum physics
led to a plethora of new phenomena, (14) defy common sense. Technological
progress in the final quarter of the 20th century has enabled researchers to conduct many
experiments that not only demonstrate fundamental, sometimes bizarre aspects of quantum

mechanics but, (15) in the case of quantum teleportation, apply them to achieve
previously inconceivable feats.

1) invented a branch of physics 2) a branch of physics invented

3) a branch of physics was invented 4) that invented a branch of physics

1) occurrence in processes 2) that processes that occur

3) processes that occur 4) processes of occurrence

1) Since 2) Of 3) From 4) For

1) some of which 2) some of them 3) some of those 4) of them some

1) also 2) as 3) like 4) such a
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PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

Passage 1:

You can't deny the importance of alarms in the chemical and process industries.Ignore them
and you risk damage to equipment, loss of million of dollars, and loss of life or severe injuries
to personell. On the flip side., many alarms are a routine part of process control, with large
industrial complexes capable of notching up as many as 15-20,000 alarms a day.

Alarm flooding - when high rates of alarms mean that operators are unable to effectively
manage them - represents danger periods, as dealing with the routine may cause a major
problem to be overlooked. However, with a simple alarm management strategy. frequently-
occuring "nuisance' alarms can be drastically reduced.

Which of the following is similar in meaning to “notching up” as used in the first

paragraph?

1) achieving 2) initiating 3) stopping 4) sounding
Nuisance alarms are alarms that ----------=---

1) are faulty 2) are too loud 3) cause problems 4) keep on ringing

The phrase "flip side' used in paragraph one means:

1) the disadvantages of something

2) the advantages of something

3) the bad effects of something that also has good effects

4) the good effects of something that also has bad effects

Alarm flooding --------------

1) sends signals to many people 2) can cause problems in chemical plants
3) is a new management strategy 4) may prevent many hazardous events

Passage 2:

By using mirrors and lenses to concentrate the rays of the sun, solar thermal systems can
produce very high temperatures-as high as 3,000 degrees Celsius. This intense heat can be used
in industrial applications or to produce electricity. One of the greatest benefits of large scale
solar thermal systems is the possibility of storing the sun’s heat energy for later use, which
allows the production of electricity even when the sun is no longer shining. Properly sized
storage systems, commonly consisting of molten salts, can transform a solar plant into a
supplier of continuous base-load electricity. Solar thermal systems now in development will be
able to compete in output and reliability with large coal and nuclear plants.

What does which refer to?

1) use 2) possibility 3) heat energy 4) production
What is an equivalent for industrial?

1) active 2) diligent 3) industrious 4) manufacturing
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22- Which one is not correct according to the text?
1) Solar systems can provide base-load electricity.
2 ) Temperatures such as 3000 degrees Celsius are achievable.
3) Solar energy will be able to compete with nuclear power.
4) Sun’s heat energy is usable while the sun itself is present.

Passage 3:

Changing economic circumstances as well as changing technology create a challenge for the
chemical engineer designing or improving process plant. Within this changing picture the need
for accurate mass and energy balances remains paramount, since they determine the size and
design of the associated unit operations. Having introduced such balances, attention will now
be given to some of the more familiar unit operations.

23- By the help of material and energy balances one can ------------ the unit operations
1) design 2) order 3) determine 4) challenge
24- Paramount means -------=---- ;
1) logical 2) very accurate 3) very important 4) overwhelming
25- What tests the skills and abilities of designers of chemical plants?
1) mass and energy balances 2) technology measures
3) economic and technology measures 4) economic measures

Fill the blank with suitable words:

As oil exploration moues into deeper water. off-shore design will differ even more from (26)
design. The major factor to date has been cost. However . future (27) will be floating
structures. The wind and wave will result in heave, roll and pitching motion . The question
raised for the process engineer is basically "will the equipment (28) with the inevitable
sloshing?" The influence of unintentionally (29)motion on processing equipment is a relatively
unexplored area of chemical engineering, but research on modified standard (30) is currently in

progress.

26- 1) on- shore 2) previous 3) standard 4) structural
27- 1) activities 2) platforms 3) development 4) works
28- l)draw 2) agree 3) progress 4) cope

29- 1) hard 2) light 3) imposed 4) accepted

30- 1) design 2) structure 3) procedure 4) development
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